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I- 1" �������	�
���
(A) ��������������������������
���d = 2,414 ����!���"85,71%  �#�$�%���#&.

      
- �������	�������'����"��&������%���(���(A). 
     )- �������	�������'�����&�&����)"*���	�(A). 

          +�,-"1 1
C H��M =12 g.mol  M =1 g.mol� �

  2" �������	�������'���#&��/0,���!��1�(A) +�"�2��30��'��������� 

A
KMnO4 conc

B
H2SO4

C+

B + H2 D
Ni

E FHBr+

F GR -O-RMg+

G CO2+
H2O

H MgBr(OH)+

C I

E
Al2O3

350 - 400°C
D H2O+

1)

2)

3)

4)

5)

6)

7)

H
H2SO4I+ H2O+8) CH3 CH C

CH3

O

O CH2 CH3

1) LiAlH4

2) H2O

       4��������	(B) 5&�6��'�� DNPH
� �1�78���
�9���&�5�� 
    
- 3����&�����*'&���:*��8"*���	�A�B��C��D��E��F��G�H��I.  

)-6��'����	�	�&�;����� )8(. 
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II-�9����<"	� (J)��)"* +���*'&���:*�  

CH3 C CH C

OH

CH3

CH3

CH3 
 1(��9��% (J) 7�"���%�����'"=��	�%>���? 7<�@�6A�� 
 2( 9��%�������-&(J) �B 4KMnO ���C�!	D���E&��F����
����������GH��&��(��& (K) ��(��&��(B) �
���	.       

������	��������	����(K)������	�����������������(L)  .

    �(��&���6��'��(L) 9�����&���5& OH3CH �(��&���;���
��E&��F����
(M).  
 - 3����&�����*'&���:*��8"*���	� K��LI . M  

3(�(��&����E����G�&����(M) ���&"�����,-�P)( J�-1"�!@�� �����»Plexiglas.« 
     
- 7G�&�����6��'����	�-&�(�%� 
    )- 6A�& ���&"������#&��-,K&P)( �#&�#�%��4 7�"L����3�	�� 

*(�+
���%�	�
�: )07 "&�'(
I- �1	�M&���
 A�E�&��������/���= 184,21 aI� ����/ �	����= 334,21iI�����	�%N�BB�4KMnO �GH��&����
 

   �E&��F�� �,-� �0�� M�&�N +��2��6��'����O
��(���������� 

A
KMnO4 conc

H2SO4
B 3 C D+ +

 
- �M&���B��"��&���������6����$�%���!	��N1-116 g.mol=BM. 
- ��M&� C��L���6����$�%�� ��)"*:

HOOC CH2 COOH

- ���M&�D��L����!������"
�#���%Q�������6����$�%��48,48% ��)"* �+6�R���#& 
HOOC CH2 COOH

x 
   1" 
- ����"��&������%���(���M&� ���
	��A. 

      )- �����&�&����)"*���	�M&� ���
	��A #&�6%����*'&���:*���)"*���B��D. 
      -- M&������*'&���:*���)"*���(�%��!"�	�A.

   2"  	���"�S���0� TG�"��&��������1-g.mol854=TG M 	���������/����= 118,97iI��������
�6�	� 
       ��M&� �����
	A ��
	�M&�� E �TH&�C16 : 0  . 
        
- ���
�G	���&����'��E&���F�������		��(��TG. 

        )- ���*'&���:*��8"*���(�%��BB�����&1&��TG. 
+�,-" 1 1 1 1 1

C H O K I, , , ,M =12 g.mol  M =1 g.mol   M =16 g.mol   M =39 g.mol   M =127 g.mol� � � � � 
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II- ��������Q�»L’aspartame«�UA��1&B/�@&��� ��C��
�E1&�G	�&��6&-��"�I������V�@&�����R& 3����R& »Light«     
     +��)"*

CHNH2 C

O

CH2

COOH

NH CH

CH2

C

O

O CH3

 
 

    <"�����Q��M&����������
�6�	�Asp  �#��?N�6��'����Phe. 
   1" #&�6%����*'&���:*���)"*���(�%�Asp  ��Phe. 
   2�"��,-"�6
76UA���W<"����������H��:R���5&��"����C��������������Q� 
   3" �1&����R"
�X�K�Y��6A�&�U%�&����&Q��M&�����"L�E���3��Phe.

   4" �Z�5E��A� ;�H& �#����&Q��#�E&����#&Asp ��Phe �<�@�	-��3���N�A����"L�$��%���G������F��R�:*��&��
 
      �	���6*'����"�&�pH=5,48� ���
3 �"L�$��%���G������;L���  2���+�� 

                                            - ����&Q��M&����G��
��	�Phe 
                                            - ����&Q��M&����G��
Asp (��&���(,K������ 

      2��9�	�����,-"�+� 

���&Q��M&��� 1pKa2pKaRpKaipH

Phe1,83#//#

Asp1,889,603,66#

      
 -��&"/�;�����ipH ����&Q��M&���Phe.  
      )- ��&"/�(���2pKa �#��?N�6��'��Phe ��&"/�ipH �<"�����Q��M&��Asp. 

     �-(�%� ����&Q��M&����#������Q��#��)"*��Asp �	��pH=9,60. 

.
�+
���%�	�
�: )06 "&�'(
    2���L�"&"%���6��'����<"	��	�����25°C:

-1
2

°
r(g) 2(g) 2(g) ( )

1 1 1
HCl  +  O    Cl  +  H O       $& �'�*;<�>?@QUV

4 2 2
��� � 

 

  1" �"���	����/�,����
���)�����&"/�	�$W �	���6��'�����@��25°C.

        �+�,-"1-.K1-R = 8,314 J.mol 

  2" ����,�Q��(���(g)f$& X&YV Z�. 
        +�,-"-1

2 ( )f$& X& [ Z�'�*�\]^�>?@QUV�
� 
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3(_�`b	���j��	�kq�u 

(g) 2(g)

1
HCl  +  O

4 2(g) 2 ( )

1 1
Cl +  H O

2 2 �

r$&�

2(g) 2 (g)

1 1
   Cl +   H O

2 2(g) (g) (g)

1
H  + Cl  +  O

2

Vap 2 ( )

1
$& X& [ Z

2
�� �

......... .........

..................

 
                �_w���

H-OCl - ClO = OCl-H�,����� 
463243498431)1-E (kJ.mol

 

      
 - �7F,�&���6&%N 
     )-��&��������������,�N�(���2 ( )Vap$& X& [ Z�

� �	��25°C. 
  4( ����,�Q��(���

r
$&� �	��120°C. 

            �+�,-"����,�N ����������&� �	��100°C :-1
2Vap$& X& [Z z{|}�>?@QUV� � 

 

(g)O2HX~ZO2H2(g)Cl2(g)O(g)HCl(��&�� 

33,5875,2933,9129,3629,12)1-.K1-Cp (J.mol

 

  
 
 
 
 
 

 
 
 

���������	
���/�(� 
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����	
� *(�+
� 
����������	
�������04�����
���	��!�����"5 ��	8 �����
���
#8 ��	8" 

 
��%�	�
���$����07 "&�'( 

     �Z��;1�����&"���(P)�6��'��#&�#���&���&1M ��2M . 
1(���&���&��1M �",���������@�6����$�%����L����M&��#��G���� ��-�R&�6�	-���I0,73g ����&�H� 20mL 

�9���&�#&NaOH��q��`)1-mol.L(0,5. 

-����&���&����"��&������%���(��1M. 

   )- ;����� )"*�� :*� 7��*'&�� 
        +�,-"-1 -1 -1 -1

C O H NaM = 12g.mol ,  M = 16g.mol ,  M = 1g.mol ,  M = 23g.mol 
2(��&"�������E�1"(P)+�"�2��30��'����������O
� 

 

CH2 OCH2OC (CH2)4 C

O O

H Hn M1  +  n M2

C CH3-Cl+

B CO2+
H2O

C MgCl(OH)+2)

3)

4)

5)

6)

E M2

A BR -O-RMg1) +

D HCl+

ED H2O+
KMnO4

H2SO4

n

1) LiAlH4

2) H2O

mH2O+

AlCl3

(P)

 
   
-��&���&����)"*�;����� 2M.

       )-3����&�����*'&���:*��8"*���	� A�B�C�D�E.

  -- ��/��6��'�����
�G�&�����[����&6 W 
       �- ��&"������G�&��������	�(���(P) �����@C3 ��,���&����"��&�������� 1g.mol�248000 =(P) M. 
 

3( ��&���&�����E���#�&"1M�����������������������	��������������	4SO2H��4KMnO@�q����`���� 

       -7#�K
��&���#����'�������	�-&�(�%� 
 
 
 

OH
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��$*(�+
���%�	�
�06 "&�'( 
I- 	���"�S (G) ��
	�M&����������
�6�	� )A(. 

1(��
	���M&����G	�%N )A( BBB� 4KMnO �	�����
4SO2H M&�����,-�� �2 7
HOOC- CH -COOH  

6����$�%���!	��N�M&�� )B (I �6�	-��2,6g �M&����#&)B( ��H��1,12g �#&KOH. 
 
- �M&������*'&���:*���)"*���	�)B(. 

        )- ���
	���M&������*'&���:*���)"*���;�����)A(. 

2(0,1mol�	���"�)���#&)G( �3A��BB1BB�25,4g �	�����#&2I. 


- �	���"�)����
�G	���&����'��E&���F�������		��	�)G(. 

        )-F�N �	���"�)������&&�����*'&���:*��8"*��)G(. 

        -- �	���"�)���	���������/�(���)G(. 

         +��,-" 
1 1 1 1 1

C H O K I, , , ,M =12 g.mol  M =1 g.mol   M =16 g.mol   M =39 g.mol   M =127 g.mol� � � � � 

II- ��0� �	������Arg -Gly -Glu �	�����)"*pH =1  +���2��

CHNH3
+ C

O

(CH2)3

NH

NH CH2 C

O

NH CH

CNH2
+

NH2

COOH

(CH2)2

COOH

 
1(�	���	���������0���)"*�F�NpH =13. 
2(7	���������0�������&����"��&Q��M�&�Q��8"*�(�%� 
3(����&Q��M&����#A�>��Arg �B�����)��	��pH . 

 
- BBB���"���Q��8"*���(�%� Arg �B�����)��	��pH �#&1 ��C13. 
        )- ��&"/�(���       ���&Q��M&���        . 
        -- ���&Q��M&����G	L������)"*���F�N Arg	��pH =12 .  

   +�,-"   
R1 2pKa = 2,17    �������� ' 9,04    ���� <pKa = 2,48

 
 

ipHArg 
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���%�	�
� )07 "&�'( 
I- �!������-�&��
�5E�����1m 200 g�  ��&���#& ����������	1

°T =30 C �� :�E� �������	�����-,/    

    2m =10g ��������������	°
2T = -2 C  . 

     +���2��F,�&�������-��&  
 

1( (��� 1Q ���fusQ.

2" ���	�	� G���� ��#H�����eqT. 

 +�,-"   

f

-1 -1 -1 -1
H O( ) (glace)2

-1 -1
(calorimètre) (glace)

c = 4,185 J.g .K           ������� ��' \|{��?@g .K  

C = 200 J.K             �������� �' ��z|z;�?@g

�
 

 

II-1( ��6L�����#�&N�6�$������6�R��� �3 7 2C H -NH
�

 +���2��F,�&���O
���"K����T�*����#&��/0,�� 

� � � � � �S 2 g 2 g

9 1
3C + H + N

2 2

...... ........ ........

� �g9 H........ ........
..................................

°
vap 3 7 2( )- $� XY & *�& Z�

� �3 7 2 gC H -NH

� �3 7 2C H -NH
�

°
3 7 2f ( )$� XY & *�& Z�

+ + 
 
-  7F,�&���6&%N 

)- 6L�����#�&N�6�$������6�R������,�N�(���
� �3 7 2f (C H -NH )�	

�

.

             �+�,-"� � � �
-1 -1

sub Vap 3 7 2
° °$� XY Z'�}<}>?@QUV �|��$� XY & *�& Z'�\�|\��>?@mols �

N-H C-C C-N N N� C-H H-H �,����� 
390 348 292 945 413 436 -1E(kJ.mol ) 

 

     2(  �V���"�q
����	 �	���6L�����#�&N25°C ���_��`b	�������	

� � � � � � � � � �3 7 2 22 g 2 g 2 gC H -NH +....O ....CO +....H O +....N���
� �

  
-  7�V����?����	�-&�#H��
         )- ���V����������,�N�(����6L�����#�&N�6�$���°

comb	
.

          �+�,-"
� �� � � �� �-1 -1

2 2
° °
f f$� Y[ '�*����>?@QUV ����$� & [ '�*�\]^�>?@QUV

g �
 

-2°C 0°C Teq 30°C0°CQ1 Qfus Q2 Q3
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III-�#����	�����	���<�'��HI �6��'����O
���2�: 

 
 

 

      ;������	�����H������A�)���-���&2I  ���&HN�90��3,�N�I�'���&�;L����������&���9�	�����
+��2� 
 
 
 
 

1(�����&�������2I = f(t)� 
� �   +������9�&-���� 

-1

1cm 20s

1cm 0,005 mol.L

���

���
 

 

2(��,���&����������(���moyV �#��&H���#���	�����6�R��=20s1t ��=40s2t. 
3(�"=�������������&"/�	�tV��=�����	���	�����6�R���"�&H��   t=40s. 

 

 
 
 
 
 
 
 
 
 

 
 
 

 
 

�����	
���/�(�*(�+
� 

t(s) 0 10 20 40 80 120 160 200 
-1I (mol.L )2

� 

� �� �

0 0,015 0,023 0,030 0,034 0,036 0,037 0,0375 

2 2
2HI  H +  I���
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I-	
  1( N- �������	�������'����"��&������%���(���A: 

-1A
A A

M
d = M  = 29 × d =29 × 2,414      M = 70 g.mol

29
� 

     (- �������	�������'�����&�&����)"*���	���CA: 
-1

x y A

A

     A : C H        M 70 g.mol

C% 85,71%

H% 100% 85,71% 14,29%

12x y M

85,71% 14,29% 100%

70 85,71 70 14,29
   x 5        y 10

12 100 1 100

�

�
� � �

� �

� �
� � � �

� �

 

 BBB����&�&����)"*���BBA: 10H5C    
 2(        

    N- 3����&�����*'&���:*��8"*�� A �B ��C ��D��E��F ��G �H��I : 

C CH

CH3

CH3

CH3 C CH3

O

CH3 COOHCH3 CH CH3

OH

CH3

CH CH2CH3 CH CH3

Br

CH3 CH MgBr

CH3

CH3 CH COOH

CH3

CH3

CH2 OHCH3

(A) (B) (C) (D)

(E) (F) (G) (H)

(I) 		
		(- 6��'����	�	�&)8(��!�_67% 

	

0,25

0,25

0,25

2 x0,25

0,25

9 x0,25

0,25

01,50

02,50

���� 1 �	 13 
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II- 	
 1 (�(��&��(J) �"���%�����'"=��	�%>���? ������9������Q �!���"�?��'"=����#�$�%������i

�j#����	�. 
 2 (*��3����&�����*'&���:*��8" KI LI M: 

 

CH2 C COOH

CH3

(L)

CH3 C COOH

OH

CH3

(K)

C C

CH3

CH2

O

O

CH3

(M)(L)
 3(  

     N- G�&�����6��'����	�-&: 

C C

CH3

CH2

O

O

CH3

n C

C

CH3

CH2

O

O

CH3

. .

n 
    (-  ���&"������#&�5,K&P)( �#&�#�%��4 �"L����3�	��: 

C

C

CH3

CH2

O

. .

CH3

O

C

C

CH3

CH2

O

. .

CH3

O

C

C

CH3

CH2

O

. .

CH3

O

C

C

CH3

CH2

O

. .

CH3

O
..............

 
 

*(�+
���%�	�
�: )07 '("&�
I- 1(  N- ����"��&������%���(���M&� ���
	��A:	

3 3
A KOH KOH

A

3

A A

aa

1

I I

                               = 

 10  10

1 g 

56 10 1
= 304 g.mol

184,21

M M 1 M
M

M   M �

� �

� �

���� �� � ��
��� ��

 

 (- �����&�&����)"*��M&� ���
	��A: 

2

2

A I A

I

i

i

I
 n 

 I

 n  
= 

100 g 

304 334,21
n =   n= 4

M M M

M 100

254 100

�

�
�

���� � �� ���� ��

�

 

0,50

3 x0,50

0,50

0,50

0,25

0,125

0,25

0,125

00,50

01,50

01,00

02,75

���� 2 �	 13 
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 ��
��'��E&���F�������		�4 +6�R���#&�#�%��M&�����&�-����)"*�����&�n 2n 8 2C H O�   
AM 14n 8 32 304 n =20� � � � � 

     ���
	���M&������&�&����)"*��A��!20 32 2C H O 
   - �M&������*'&���:*���)"*��B : 

1
B n 2n 2M M(C H O ) 14n 32 116 g.mol

116 32
 n = 6

14

�� � � �
�

� 

    �M&������*'&���:*���)"*�����&�B : 

                                                
CH3 CH2 COOH

4 
   - �M&������*'&���:*���)"*��D :

                                        
HOOC CH2 COOH

x
D:

1D
D D

4 16 100
=      = 132 g.mol

M4 16
M M

48,48 100 48,48

   132 45 14x 45 14x=42 x=3

�� �� �� ��
�

� � � � �
 

   
����k��6�K��+�=�0& C:20 C:6 C:3 C:nA B 3C D

20 6 9 n n 5

� � �
� � � � �

M&������*'&���:*���)"*��D:
HOOC CH2 COOH

3

 B�- ��)"*����
	���M&������*'&���:*�A: 
A:

4
3

CH3 CH2 CH2 CH CH CH2 COOH
3 4 3 ��

CH3 CH2 CH CH CH2 CH CH CH2 CH CH CH2 CH CH CH2 COOH

 
   
 2(   N- ��
�G	���&����'��E&���F�������		��(���TG: 

2TG I

i

1 1

i

M   n M

854 g.mol  n 254 g.mol 854 118,97
 n = n = 4

100 g                

100g   I

254 100I

� �� �

�����

�����

���� � � �� ���� ��

 

 

0,25

0, 25

0, 25

0, 25

0, 25

0,25

0,25

0,25

0,25

0,25

01,00
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   (- ����� ���*'&���:*��8"*���BB�����&&��TG: 

CH2

CH

CH2

O

O

O

C

C

C

O

O

O

CH3CH2
14

CH2

CH

CH2

O

O

O

C

C

C

O

O

O

CH3CH2

CH CH
3

CH2CH
2

CHCH2

14

3 4 3

CH3CH2
14

CH CH
3

CH2CH
2

CHCH2
3 4 3

CH3CH2
14

 
II-
   1#&�6%����*'&���:*���)"*���jAsp ��Phe: 

 

CHNH2 COOH

CH2

COOH

CHNH2 COOH

CH2

.

Asp Phe
 

   2 (����H��:R���5&��"����C��������,-"��������Q� ����&N�M&�������L����?�<"����� 
       �!�,�Phe. 

   3 (��&�����&Q��M&�����"L�E���3��%�&&���6Phe �(���R"
�X�K�C: 
COOH

H2N H

CH2

COOH

NH2H

CH2

 
   4 ( 

�- ��������&"/�li (Phe)pH : 
          Phe�"���������
pH=5,48  ���� ���&���m�"L�$����9	�-�&�#��N=5,48i (Phe) pH

 

0,25

0,25

2 x0,25

0,50

2 x0,25

0,25

00,50

00,50

00,50

01,75
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��-� �q������2pka���q������q�
��ipH�kq`¡���¢	�£�¤�:

1 2
i 2 i 1

2 2

pKa pKa
pH = pKa = 2pH  - pKa    

2

pKa = 2(5, 48) - 1,83       pKa = 9,13

�
�

 

 

 Asp      ��������q���£��

1 R
i

i i

pKa pKa
pH = 

2
1,88 3,66

pH =      pH = 2,77
2

�

�

¥�-����&Q��M&����#������Q��#��)"*��Asp �	��pH=9,60:   	���!N2pH=pKa 

NH3
+

CH COO
-

CH2

COO
-

NH2 CH COO
-

CH2

COO
-

,

	
.
�+
���%�	�
�: )06 "&�'(

I- 1 (�C���"���	����/�,����
���)�����&"/�	$W �	��25°C: 

g g

g

3

-1
2

°
r

° °
r r

(g) 2(g) 2(g) ( )

  

1 1
1 0,75

2 4

( 0,75) 8,314 298 10

1 1 1
HCl  +  O    Cl  +  H O       $& �'�*;<�>?@QUV

4 2 2
$& �'$W¦$§ ¨© �$W'$& $§ ¨©���|���©'�\;¦\}�'\�8K      

$§

$W' ;<

$W'� z�|<z

�

���

�

� �� � � � �� �
� �
� 
� � � � � �� �

�

�

�

1 kJ.mol�

 

  2���j�����,�Q��((g)f$& X&YV Z� : 

� � � � � � � �

� � � �

° -1
(g) 2(g) 2(g) 2 ( ) r

° ° °
r f f

° ° ° ° °
r f 2(g) f 2 ( ) f (g) f 2(g)

1 1 1
HCl  +  O    Cl  +  H O       $& �'�*;<�>?@QUV

4 2 2

$& �' �$& X�ªU¬­®¯±Z $& Xªéactifs)

1 1 1
$& �' �$& YV �¦� $& & [ $& &YV �¦� �$& [

2 2 4

1 1
-51 = 0  + 286

2 2

���

�

� 
 � 
�� � � �� � � �
� �

� �
�

�

� � � �

� �
� �

°
f (g)

°
f (g)

° -1
f (g)

1
$& &YV �¦� {

4

$& &YV ;< <z�

$& &YV *�\�>?@QUV


 � 
�� � � �� � � �

� �

�

 

0,25

0,25

0,25

0,25

2x0,25

0,50

0,25

0,25

0,50

0,50

01,00

01,00
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  3(    N- C&%�F,�&���9:  
 

(g) 2(g)

1
HCl  +  O

4 2(g) 2 ( )

1 1
 Cl  +  H O

2 2 �
r$&�

(g) (g) (g)

1
H  + Cl  +  O

2

Vap 2 ( )

1
$& X& [ Z

2
�� �EH-Cl

-EO-H

EO=O
1
4

ECl-Cl
1
2

-

2(g) 2 (g)

1 1
 Cl  +  H O

2 2 
 

     (- �����&��������������,�N�(2 ( )Vap$& X& [ Z�
� �	��25°C:  

� �

� �

� � � � � � � �

� �

° °
r H-Cl O=O Cl Cl O-H vap 2 ( )

° °
vap 2 ( ) H-Cl O=O Cl Cl O-H r

°
vap 2 ( )

° 1
vap 2 ( )

1 1 1
$& �'² ² ² ² $& & [

4 2 2
1 1

$& & [ \ ² ² ² ² $&
4 2

1 1
$& & [ \ z�< z�] \z� z^� ;<

4 2

$& & [ zz>?@QUV

�

�

�

� � � �

� 
� � � � �� �� �
� 
� � � � � �� �� �

�

�

�

�

�

 

  4���j�����,�Q��(
r

$&� �	��120°C: 
      ��H�)������������C���L������������#&���&����"L��H�'�����������
���)��<��
 

� �

� � � � � � � �

� � � � � � � �

1 2

2 0

0 1

0 1 2

T T
° ° °
T T 1 vap 2 ( ) 2

T T

1 2(g) 2 ( ) (g) 2(g)

1

T 25 273 298K , T 100 273 373K , T 120 273 393K

1
$& �'$& $Y� ¬© $& & [ $Y� ¬©

2

1 1 1
$Y� Y� YV Y� & [ Y� &YV Y� [

2 2 4

1 1 1
$Y� ��|�< };|\� \�|<\ \�|�^

2 2 4

� � � � � � � � �

� � �

� 
 � 
� � � �� � � �� � � �
� 
 �� � � �� �� � �

  �

�

� � � � � � � �

� � � � � � � �

1 1
1

2 2(g) 2 (g) (g) 2(g)

2

1 1
2

$Y� <]|<z�?@QUV @�

1 1 1
$Y� Y� YV Y� & [ Y� &YV Y� [

2 2 4

1 1 1
$Y� ��|�< ��|;] \�|<\ \�|�^

2 2 4

$Y� \|}<;�?@QUV @�

� �

� �



� ��

�

� 
 � 
� � � �� � � �� � � �
� 
 � 
� � � �� � � �� � � �

� �

 

 
 

4x0,25

0,25

0,25

0,25

0,50

0,25

0,25

0,25

0,25

01,75

02,25
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� �

� � � � � �

� � � � � �

373 393
° ° °
393 298 1 vap 2 ( ) 2

298 373

° ° °
393 298 1 1 0 vap 2 ( ) 2 2 1

°
393

°
393

1
$& �'$& $Y� ¬© $& & [ $Y� ¬©

2

1
$& �'$& $Y� © © $& & [ $Y� © ©

2
1

$& �'� ;<{{{ <]|<z �}� \�] z{}{{ \|}<; ��� �}�
2

$& �'� ;<{{{ <�^{|; \{�;{ ;z|� \��z�|]�?@

� � �

� � � � �

� � � � � �

� � � � � �

  �

�

1

° 1
393

mol

$& �'� \�|�z�>?@QUV

�

��

 

 

0,25

0,50
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�����������������������	
���������
����������

�$������%�	�
� 07"&�'( 
1
�"- ���&���&����"��&������%���(���1M : 

HOOC-(CH ) -COOH +2NaOH NaOOC-(CH ) -COONa+2H O2 n 2 n 2�� 
1

1
1

-1

-3-3

1

(M ) (NaOH)

(M ) (NaOH) (NaOH)
(M )

(M ) =146g.mol

1mol 2mol

M   2×M 0,73g×2×MM =
0,5×20×10 ×400,73g 0,5×20×10 ×40

M

������

������� � ��
������ ��

�K��, +n��N 
-3

-3
1 1

-1
1 -3

1

n(NaOH) C×V 0,5×20×10
n(NaOH)=2n(M ) n(M )= = = =5×10 mol

2 2 2
m 0,73

M(M )= = =146g.mol
n(M ) 5×10

�

   
 )-  ��&���&�����*'&���:*���)"*���l������1M: 

      +���	� 

2HOOC-(CH ) -COOHn 

1 2 4
146-90

M(M )=14n+90=146 n= 4 , HOOC-(CH ) -COOH
14

=�
 

2
��"- ��&���&����)"*�l������2M : 
 
 

 

   �)- +3����&�����*'&���:*��8"*���	���C 

A: B: C:

E :D :

Cl MgCl COOH

COOHHOOCCOOHH3C

 
      <--  ��/��6��'�����
�G�&�����[��6:��%�����G�&���+ 

 
 

0.25

0,50

0,25

0,25

0,50

0,50

5x0,50

0,50

01,75

4,25
CH2OH CH2 OH

���� 8 �	 13 
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       �- (��� ����	+�G�&���� 

-1
motif

p

motif

M =14×12+16+4×16=248g.mol

M 248000n= 1000
 M 248

� �
 

3  (+#����'�������	�-&������ 

OH
H2SO4

	 + H2O

KMnO4

H2SO4

HOOC-(CH2)4-COOH

�"����������k��6�K��+�=�0& 
OH

H2SO4

O

KMnO4

H2SO4

HOOC-(CH2)4-COOH

KMnO4

O

 
�$�*(�+
���%�	�
�06 "&�'(

I-
1(
- �M&������*'&���:*���)"*���	���C)B( : 

1
B B

3 2

3 2 5

1mol B 1mol KOH
2,6 56

M ( / ) 56 ( / ) M = =130g.mol
1,12

2,6  g 1,12g

( )

130 60
15 14 45 130 5

14
:  ( )

n

g mol g mol

CH CH COOH

n n

B CH CH COOH

�

�����
� ������ ��
����� ��

� �

�
� � � � � �

� �

 

 

�(-  ���
	���M&������*'&���:*���)"*���l������)A(: 

3 2 5 2 7:  ( ) ( )A CH CH CH CH CH COOH� � � � � 
2(N- �	���"�)����
�G	���&����'��E&���F�������		��	���C)G(: 

21mol G x mol I
x=1 25,4

0,1 mol  mol
254

�����
� ��

���� ��

 

�	���"�)����
�G	�������	H&��,����	���)G(. 

0,25

0,50

0,50

0,50

0,25

0,25

0,25

0,25

0,25

0,50

01,00

01,25

01,75
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)- ���Y
�G	�������	H&��,��������!���"�	���"�)���#N��&��	���"�)���!	��N 
    +�
�������&&�����*'&���:*��8"*��� 

CH2

CH

CH2

OH

O

OH

C
(CH2)7 CH CH (CH2)5 CH3

O

 

CH2

CH

CH2

O C
(CH2)7 CH CH (CH2)5 CH3

O

OH

OH 
>- �	���"�)���	���������/�(���)G( : 

G

-1M =19×12+36+4×16=328g.mol 

i

i

I

M 254
254 100328 254 77,44

328
100 g   I

G
�����
������ �
�

���� ��

�� � �

	0�PQ'&R�=S	����
			T�!UGM0
H O Aglycérol2

G

G

1

M + M  = M  + M

M  = 92 + 254 - 18 = 328 g.mol�
 

II-
        1  (�	���	����������0���)"*pH =13:       

(CH2)3

NH2 CH C

NH

C

NH2

NH CH2 C

O O
NH CH COO

-

(CH2)2

COO
-

NH

 

0,25

0,25

0,25

0,50

0,5000,50
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2(&Q��M�&�Q��8"*������+	������������&����"��

CHNH2 COOH

(CH2)2

COOH

CH2NH2 COOH

Gly

CHNH2 COOH

(CH2)3

NH

C

NH2

NH

Glu

Arg

,,

3( N- BB���"���Q��8"*��������Arg  ��&"/���)��	��¥�	 pH #&1  ���C13: 

(CH2)3

NH3
+ CH COOH

NH
C

NH2

NH2
+

(CH2)3

NH3
+ CH COO-

NH
C

NH2

NH2
+

(CH2)3

NH2 CH COO -

NH
C

NH2

NH2
+

(CH2)3

NH2 CH COO-

NH
C

NH2

NH

1 pKa1=2,17 pKa2=9,04 pKaR=12,48 13pHi

 
��-��������	
 ipH  �BBBBB�Arg : 

R2
i

pKa +pKa 9,04+12,48pH (Arg)= = =10,76
2 2

���-���
�����	
������
�Arg �����pH=12���
CHNH2

COO -

(CH2)3

NH

C

NH2

NH2
+

3x0,25

4x0,25

2x0,25

0,25

00,75

01,75

���� 11 �	 13 
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��$�.
�+
���%�	�
�07 "&�'( 
I – 1 (�G��������"&��(���Q1 ��fusQ: 

� � � �1 2 g 2 g 2

fus 2 f(glace)

fus

Q = m c $© ' Q � \}�* © ' <{³\|{� \}�* \}< ' z{| �̂?

Q = m L

Q = 10×334,45 = 3344,5 J

 

     2( �#H������G��������	�(���
eq

T: 
2 e eq eq eq

cal 1 e eq 1 eq 1

eq eq

1 fus 2 3

e

2

3

Q m c (T - 273) 10 4 185 T 10 4 185 273 41 85 T 11425 05

Q (C + m c )(T - T ) (200 + )T - (200 + )T

1037 T 1037 303 1037 T 314211

Q = 0  

Q + Q + Q + Q = 0

40,6 + 3344,5 + 41 85 T

200 4,185 200 4,185

�

�

� � � � � � �

�

� � � �

� �

�

,  , ,  ,

     =  

, q eq

eq eq

11425 05 +1037 T 314211 = 0

322250 95
298 7K = 25,7°C

1078 85
1078 85 T 322250 95 0 T

� �

� �� � �

,  

, ,
,

.  ,  

 

II- 
1(  N- +F,�&���9�&%C 

� � � � � �S 2 g 2 g

9 1
3C H N

2 2
+  +  

� �� �°
3 7 2f

C H -NH	
 �

� �°
C( )sub3$� s � �H-H

9
E

2
� �N N

1
E

2
�

� � � � � �g g g3 C 9 H N +     +    

� �3 7 2vap C H -NH
�	
�

� � � � � � � �C-C C-N N-H C-H2E E 2E 7E- - - -

� �3 7 2C H -NH �

� �g3 7 2C H -NH

��-�6L�����#�&N�6�$����6�R������,�N�(���� �� �0
f 3 7 2$� Y & *�&

�
 

� �� � � � � � � � � � � �

� � � � � �

� �� �
� �� �

3 7 2

0

sub C H-H
°
f 3 7 2

0
f

N N C-C C-N

0
vapN-H

3 7 2

0
f 3

C-H H H

2

C -N

7

3$� ² ² ² ²

E E

9 1
+ + -2 -  

2 2

                                     -2  -7 -$�

9 1
(436)+ (945)-2(348)-292-2(390)-7(

$� Y & *�& '�

$� Y & * 413)-29,2NH =  3(717)+

$� Y & *� ' �

2 2

H   

��

�

�

-1-102,7  kJ.mol

0,50
0,25
0,25

0,25
0,25

0,25

0,25

1,00

0,50

0,25

01,00

01,00

01,75

���� 12 �	 13 
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2  (�-+V����?����	�-&���H��& 

� � � � � � � � � �3 7 2 22 g 2 g 2 g

21 9 1
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